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The concentration of calciumin seawater sample was fou De 19
:nd concentration by mass of calcium in the sample assur ﬁ g
§ 5

d out of
3 Select one: .
E-'.p O 0.230 % '-fr". 'Til' - , )

O 0.905 %

) 0.0328 %
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Question 2 | How can Te acquire a noble gas electron configuration?
Not yet
answered
B Select one:
Marked out of .
2.0 | O By losing one electron
' ¥ Flag | O By losing two electrons
uestion e
i i g O By gaining one electron
O By gaining two electrons
O By losing three electrons
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| What formal charges are there on the following Lewis structure of SeO3?

ol -t
:0
yut of ol
Se—
b .0
(W
Select one:

O se has +], each O atom has 0

) Se has +}, two O gtoms has -1and one O atom has 0

O Se has +2, two O atoms has -1 and one O atom has 0

O se has +2, one O atom has -2

O se has 0, one O atom has +]
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Question 4

Calculate the change in internal energy (kd/mol) when 4 moles of NH;(g) are converted to 4 moles of NO(g) at
— 5 atm. and 425°C.
answared

rtdarked out of

anHs(g) + 50;(g) --> 4NO(g) + 6H:0(g)
20

AH = =906 kJ/mol

R= 0.0821 Latm/molX or B8.314 J/K-mol
1" Flag

question

Select one:
) -909.31
() -910.14
O -910.97
) -81.80
) -908.48
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Question B How many electrons are there in the valence shell of Be'in BeCl,?
Mot yet
SR e Select one:
Marked out of O 6
20 a
¥ Flag 10
queastion O 4
G 12
4
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?:‘.::ﬁ S Tth average speed of nitrogen gas (M;, 28 g/mol) that effuses at 3D.ndﬂc is 480 m/s. The average speed at
i o which butene gas (C.Hg, 56 g/mol) effuses ot the same temperature is:
Marked out of
Y Fog Select one:
% gy = a8Im/s
39 m/s

D 354 m/s

D 495 ms

_ 3% m/s
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Question 7

Not yet

Which one of the following golids have the largest meiting point ?
answered

Marked out of

20 Select one:
¥ Flag ) Rbl
question
) WNaBr
(. 510
) CsClI
) KCl
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Queastion B ) _
Nk it Which of the following atoms or ions are isoelectronic ?
answered
Marked out of
20 Select one:
AL © K'andcl
question
) Ca? and Mg?*
N andr
) Li* and Be®™*
T Be’ and B
Previous page
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Question 8 1

Which of the followin i
NGt et g pair of elements would most fikel form an ioni
weiult? Y lonic compound?

Select one;
Marked out of o
20 . Ga and Mg
¥ Flag C Brand O
question O ol d

) and |

O Cands

*J BrandRb
Previous page
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v Lithiumn (L) reacts with water Qccording to the following unbalonced equation:
swered Li(s) + HgD[l) . HDH{Dq) + H;(g']
arked out of i
. How many grams of li are needed to produce 59.8g of H,? {molar mass: H =101 1 = 604 a/mol)
" Flog
Jestion
Select one:
(41
(273
136
O 342
O 205
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Question 11 H fis
Not yat ow many milliliters of 0.165 M aluminum chloride (AICI;) are required to react completely with 350 mL of 0.210
S M silver nitrate (AgNO3)?  The net ionic equation is:
tarked out of Ag’ (ﬂtﬂ * C‘.T{DCﬂ =-==3 AQC“S]
2.0
Y Flog
guestion
Select one:
2 318 mL
181 mL
O 233 mL
148 mL
O 276 mL
l _ Previous page |

Scanned with CamScanner



ENERAL CHEMISTRY 1/ woill asaa

Home My courses GENERAL CHEMISTRY I/ <=2l s Chem.101Exams  Chem. 10} Final Exam
estion 14 In which of the following bonds would Br have a partial positive charge?
t yet
Sl Select one:
irked outof |
: | O Br-Se
Flag | O Br-Ge
|??ti-:_:r1 2 O Br-As
O Br-Cl
O Br-I
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Select one:
O [Kr]ss?4d’
- O [rRn]5f37s%6d'
O [xel4af'*6s?5d°
O [rRn]5f*4
O [Ar]3d'04s?4p?
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Question 16

Mot yet
answered

Marked out of
20

v Flag
question

My courses 'GENERAL CHEMISTRY I/ a2l e

Chem. 101 Exams

What is the potential energy value (in kJ/mol) obtained via combining cs*
bonds?

k=899x10°)m/C?2 e=16x10"°C
Avogadro No. = 6.022 x 10%

The distance between ions = 0.350 nm

Select one:
O 462
O 554
O 513
O 396

O 693

Chem. 101 Final Exam

ions and F ions to form ionic
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uestion 1_5 a

ot yet |
inswered ' ':ll T H
varked out of l H S c N {_(_L"—N f—" =
Z.U | =i l = s .
| J
¥ Flag '| H

question |
' " Select one:

-

O Trigonal planar

O Bent

O Llinear

O Tetrahedral

O Trigonal pyramidal
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Question 13

Hat yet
answered

Marked out of
20

T Flag

guestion

Previous page

The bond angles in Sbils are expected to be:

Selecl one:

2 1BO°

) 80°,120°,and 180 ®
) 90 °and109.5°

O oo-°

< 120°

-4 Announcements
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Question 12 s " ) . . —na
What is the maximum number of electrons that can be placed in a shell withn = 2°
Mot yet
answered

Marked out of

20 Select one:
¥ Flag 10
guestion

O 2

3 5

I._,-: E

14
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4 Which one of the following elements is expected to have the highest electronegativety ?
red
d oxst of
Select one:
L ~ tlement (g): LE = 4.0 x 10° kJ/mol and E.A = 2.0 x10° kJ/mol

— < Element (1) : LE = 4.0 x10° kd/mol and EA = 2.5 x 10° kJ/mol
O Element (2):1LE = 1.0 x 10% kJ/mol and EA = 3.0.x 10° kJ/mol
O element (y): LE = 5.0 x 10% kJ/mol and EA = 1.0 x 10° kJ/mol
O element (x): LE = 2.5 x 10% kJ/mol and E.A = 2.5 x 10° kJ/mol
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Which of the following atoms is the most difficult to ionize?

Select one:
O Ne

O He
OF
O cC
O o
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Question 20

WG Which one of the following statements is incorrect regarding electron affinity ?
ot ye
answered :

Marked out of

2.0 Select one:
¥ Flag O In a given period, the electron alfinity rises from the group 1A element to the group 7A element but with
HUBSHON sharp drops in the group 2A and group 5A elements.

O Electron affinity is defined as the energy required to remove an electron from the atom’s negative ion (in its
ground state)

O Nobel gases have zero or small negative electron affinity values.
O The element with highest electron affinity in the periodic table is chlorine.

O Group 6A and group 7A elements have the smallest electron affinities of any of the other main-group
elements

—
1

. Previous page
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Question 21

flot yet Which one of the following sets of quantum numbers is not possible?
answered
Marked out of
20 Select one:
Y Flag O n=2 1=1, mi=]
question
O n=1, I=1, mi=-]
O n=3 1=2, mi==2

n=2, 1=1, mi=-]

O O

n=1 I=0, mi=0
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Question 22 ey |

e How many grams of NiSO,.7H,0 (280.86 g/mol) would be required to prepare 1000 mL of a solution that is 0200
yet - 3 00
answered Min NISO‘;(GQ) (154.76 g/mol)?
Marked out of - (
2.0 1 1.‘
¥ Flag Select one: || |
question ) 42] g ) ' 1 :
O 59.0g | i |
O 674g . ,
O 843 g g j -

| ,gl‘*é\}idus page |
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Question 23

Notyet Which of the following ionic compounds does not exist ?
answered

Marked out of

2.0 Select one:
¥ Flag QO Ssro
question
O Baly
O RbBr
) Csl
O CsO
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Question 24 Which of the following O-bonds is most polar?

Mot yet

answered

Marked out of Select one:

20
O O-B

¥ Flag

question O o-C
O o-0
O o-F
O O-N

. Previous page
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Question 25 Which of the following atoms is smallest in size?

Not yet _
answered |
Marked outof |
£ 20
¥ Flag |
ghostion Select one:
OF
OB
O cC
O Be

O o
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Which of the following atoms is the most difficult to ionize?

5t
ered
ad out of
Select one:
g | O Ne
tion
O He
O F
O C
O o
revious page
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Question 8

S Which of the following atoms or ions are isoelectronic ?
| ?‘E

answered

Marked out of

20 Select one:
U Flag O k*andcl
question

O Ca?' and Mg?*
O N¥andFf

O Li* and Be?*

O Be’* and B

Previous page
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Question 16 . h I
What is the potential energy value (in kJ/mol) obtained via combining Cs* ions and F~ ions to form ionic

Not yet
answered | bonds?
Marked out of k=899x10°Jm/C? e=16x10"¢C
2.0 .
Avogadro No. = 6.022 x 1023
Y Flag .
question The distance between ions = 0.350 nm

Select one:
O 462

O 554
O 513
O 396
O 693
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Question 18

Not yet
answered

Marked out of

20 Select one;
| 'Y Flag | O Element (q): LE = 4.0 x 10° kJ/mol and E.A = 2.0 x 10% kJ/mol
question !

O Element (t): L.E = 4.0 x 10° kJ/mol and E.A = 2.5 x 10° kJ/mol

O Element (2): 1.E = 1.0 x 10° kJ/mol and EA = 3.0 x 103 kJ/mol

O Element (y): LE = 5.0 x 103 kJ/mol and E.A = 1.0 x10% kJ/mol

O Element (x): 1.E = 2.5 x10° kJ/mol and E.A = 2.5 x 10° kJ/mol

. Previous page
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Which one of the following elements is expected to have the highest electronegativety ?

W
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Question 20

Not yet
answered

Which one of the following statements is incorrect regarding electron affinity 2

Marked outof
[

20 Select one:
Yi Flr:;g O In a given period, the electron affinity rises from the group 1A element to the group 7A element but with
question -

sharp drops in the group 2A and group 5A elements.

O Electron affinity is defined as the energy required to remove an electron from the atom’s negative ion (in its
ground state) ‘

' Nobel gases have zero or small negotive electron affinity values.
O The element with highest electron affinity in the periodic table is chlorine.

() Group 6A and group 7A elements have the smallest electron affinities of any of the other main-group
elements

Previous page Next page |
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Question 13 The bond angles in Sbls are expected to be:

Not yet
answered

Marked out of

2.0 Select one:
{” Flag ) 180°
question

- O 90¢°,120°,and 180 °
O 90°and1095°
O 90°
O 120°
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Question 24

Answer saved

Marked out of
2.0

{” Flag
question

Previous page

Which of the following O-bonds is most polar?

Select one;

G
O
O
O

J

O-B
O-C
O-0
O-F

O-N

57
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What is the potential energy value (in kJ/mol) obtained via combining Cs* ions and F~ ions to form ionic

Mot yet

onswered bonds?

Nirkad oit ot k=892x10%)m/c? e=16x10""C
<8 Avogadro No. = 6.022 x 1023

¥ Flag )

question The distance between ions = 0.350 nm

Select one:
) 462
) 554
() 513
) 396
() 693
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